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Russell Paradox and Extension Set

Cai Wen

(Guangdong Institute of Tecnnolo%y)

A concept of extersion set was established in the
Artlfli. It will be expounded that Russell Paradox isn't
Paradox in the meaning ot the extension set in this

article,

1. Extension Set and Its zero's bound

In the realistic world, we always mee? with some
tnings, which‘ﬁreright and wrong. Fof example, there
#re some simiconductors, which can conduct electric and
inconducts between the concuctor and insulator. The
wlectric conductivity is suowed by means of rate of
electric conduction. There is some neutral sult between
the sour ana alkali and the acidity or alkalinity of a
matter is shiowed by means oi sour andalkali level. There
are quasi-metal tellurium arsenic ana selenium etc between
metal and non-metal. There are neutral neutron between
proton brought positron and electron brought negatron.
There is a state whic is between liquid and steam. It is
similar state that tue temperature ot tine water rised to
100° . TRe level which a matter has some character is
showed by means of different target in tne different field,
That is to say, tmne rignt ana wrong concept is not only
showed :;qualitative,but also is showed with quantity
target. For example, A and B are all condhcts, but their
conductivity level are different. This difterence is
showed by the rate of electric conduction A is higher thaa

B.

The concept o1 extension set is establisihied in order
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to show tae above tuing and it can show tnat a thing has

1
some nature s level.

Definition 1: The so called "Extension subset X" in
tne obgects set (A under a restrzint is indicated to provide

2 real number.

/1(';( (U

for any ug U' , by which the relationship of u ana X
is described. The mapping
#@y . L(-e (~ o<, T 0<)
U — Kx (w0
is called a dependent function of X .
In this concept, tiie semiconductor,salt, neutron etec
is showed by . B
Ky () =0
Definition 2 : If X is a extension set, which
describes level that a thing fiave some nature in a iniverse.
Then the element wuich the value of tne dependent functiam
is O (K;?CLA)ﬁO), is called a criticel element, written
es u . The set of a critical element is called zero's-
boundary.
In obove seuse, ue¢ X in the classical set is showed
s K (u) »o
and u_E‘K is showed by
#13( (L) £0
And
k:q~ () =0

Shows that u is a elemend which has zome nature and not.

2. Ruseoll Parodox isn't Parcdox

We prove the Rusell Parodox:” 1isn't Per

o
If a universe U is the wnole of all sets, the
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mappng
w— Kz («w)

= (—o ,Too)

is established in U and it satisfigs with the fellowing
condition. 7). Mc‘u ) ue ™ xr & K’x)'(b()éa

2)  wue U, ued S KR (K20

—

Then the estension set X is established in U. Let

A;{q | AX (wpo, welll
We prove . that ’
Kx (A) =10 _ —
is right whatever A ¢A or A4 ¢ A
First Z\]L AcA, 7“’0‘“ 'y
L Kx (A £D
but ki%A)‘LO is wrong. Because it is contradiction if
it is right, then from (1)

A e A

Kz (A 20

But from 2)

So
!&; (,A) = Of."

.,,{5/‘_@;/@7'//., if AEA  Kx(M)=0 s true +too

(*H@rg % senso of " " is Rusell's sense. The following
metion is the same as the above) ggS@ A eJo (Jo is zero's
boundary of ;'). That is to say, the set, which consists
of all set that is isn't its element in Rusell Parodox, is
a critical element. It belongs 1o A4 and not. So Rusell
Paradox isn't a ParadoXx.

In fact, The source of kuscll Paxrndox is in the law
ot excluded middle, It doeernit admit <iat thing has somo
natures ond nct. RBut semicondllclis meitron, ﬁhe water of

.
cat

|44}

cratical

o}



55

1ilte bt bLecn not, and realistic produced some contradictions.,

-~ ¢

So sesell Faradohx appear The rewzlity was Joking with

tho lew of excluded mi

. this olso shiow

usoew in some range.

exceeded.

%, The lav of compromise
If X is a extension set discribod some nature, then
thoere is a zero's boundary Jo, its elcmerts has these

- tureszird note

L, Extend
In iiae sense of the concept of the estension set,we
cun discribe tie changing that a thing is from right to
wrong or from Wrompg o right and discuss the changing wvay.

Ts

(% the same time, We can modiats scme paradox from stu%&ng

N e

JO .
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